YEAR 3 ARITHMETIC PRACTICE TESTS SET B

Spring Test 2
Teacher guidance

Skills and knowledge covered in this test:
« Count from 0 in multiples of 4, 8, 50 and 100 [3N1Db]

- Find 10 or 100 more or less than a given number [3N2b]

« Add and subtract mentally [3C1]

+ Add and subtract using formal written methods of
columnar addition and subtraction [3C2]

« Solve addition and subtraction problems including
missing numbers [3C4]

« Calculate multiplication and division statements

mentally and using formal written methods [3C7]

« Solve multiplication and division problems including
missing numbers [3C8]

« Count up and down in tenths [3F1a]

- Find fractions of a discrete set of objects [3F1b]

« Add and subtract fractions with the same denominator

« Recall multiplication and division facts for the 3,4 and 8 [3F4]
multiplication tables [3C6]
Focus activity: Partitioning multipliers
3C6, 3C7 Qu. No. | Question Answer | Mark :):fmain Focus activity
You will need: counters. T |9+4=] 13 1 1 [1c1 Y1 Summer Test 2, Y1 Summer Test 4
. . Y1 Spring Test 1,Y1 Spring Test 5, Y1
@ IntroQuFe the Ianguage Qf multiplication, 2 |9-[]=5 4 1 |1C4 Summer Test 4, Y1 Summer Test 6
multiplicand X multiplier = product
and division, dividend + divisor = 3 |113-6=[] 7 1 [2C1 Y1 Summer Test 3, Y1 Summer Test 4
quotient. Display the vocabulary 4 lox2=[] 18 | 1 |2C6 Y2 Spring Test 1, Y2 Spring Test 2
alongside sample calculations and
refer to it frequently. 5 [20+10+10=[]]| 40 T 2N Y2 Autumn Test 5
@ Display the following set of calculations: 6 |[]=24-7 17 1 gg; Y2 Autumn Test 2
4X 4 4X2X2 202
3X8 IX4X2 7 |58—-10=[] 48 | 1 202;' Y2 Autumn Test 5
410 AX5x2 8 [354+10=[] 364 | 1 [3N2b  [Y3 Autumn Test3
@ Ask children what ’Fhe:y notice. On o |0-s-] A v e Y2 Spring Test 3, Y2 Spring Test 4,
each row, the multiplicand and o= Y2 Spring Test 5, Y2 Spring Test 6
product stay the same but the
multiplier has been partitioned 10 |802-6=[] 796 | 1 |3C1 Y3 Autumn Test 2
into two parts. It does not matter 2C2a
when we multiply (or add). This is 2
the associative law. Tell children 12 |68+19=| 87 | 1 & | Y2 Summer Test, Y2 Summer Test 6
o 2C2h
that it is good to know about the 1
associative law as sometimes we can 13 |4 of40=[] 10 | 1 |2Fa Y2 Summer Test 3
make calculations easier to do by _
partitioning them in different ways. 14 (753 +200 =] 953 [ 1 [3C1 Y3 Autumn Test 3
@ Challenge children to use counters to 15 [8x5=[] 40 1|3 Y5 Spring Test 5
create arrays for both calculations on 16 |[]=27+3 9 1 |3C6 Y3 Spring Test 3
the same row to help them explain X X
what is happening. 17 |4x3=[] 12 1 |3Cé Y3 Spring Test 3, Y3 Spring Test 5
18 |25 X 5= 125 | 1 |3C7 Y3 Spring Test 6, Y3 Summer Test 5
0000 4x2 9999 —
axa QOO0 19 [344+359=[] | 703 1 |3C2 Y3 Autumn Test 4
X 4 0000 4x2x%x2
0000 4x2 0000 20 626 —375=[_] 251 | 1 |3C2 Y2 Summer Test 1
000 PR p
21 |5 +6=01] 0 | 1 |3Fa Y3 Autumn Test 5, Y3 Spring Test 1
Ask children to say which group of
counters is easier to count. Agree 22 (437 -[]=278 159 | 1 |[3C4 Y3 Summer Test 1, Y3 Summer Test 6
that by partitioning the multiplier it .
23 +5= 30 1 |3C8 Y3 Spring Test 4, Y3 Summer Test 6
is easier to see what the product is by Ll-s5-¢6 pring !
using addition to add the two groups 24 % - ;f =[] % 1 |34 Y3 Autumn Test 5
of counters. 3
25 |4 of40=[] 15 | 1 [3Fb  [Y3 Summer Test3
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